e

V Series 351

SYMBOL SHERECER

B Model Code/ &Y 5% 57 BH
V15A1RBS-A1

1o

Port Threading Bo& S8
10: PT

40: BSPP (G)

50: NPT

60: SAE (O-Ring)

Voltag &R

A: AC100V(50/60Hz)
B: AC110V(60Hz)

C: AC200V(50/60Hz)
D: AC220V/(60Hz)

E: DC12V

F: DC24V

Shaft type BNV
None: i Key
S: {E## Spline SAE. J4986

Direction of pipe connections EZZE 30
None: side port mffIEAL
B:Axial port #7545

Shaft rotation @iEF5[0)
R: clockwise IERFE 7315

L: counterclockwise ¥E§ETFIE

Pressure adjustting EJJFAZE 7T\
1: 8~70 kgf/cm?

2: 15~140 kgf/cm?

3: 20~210 kgf/cm?

4: 20~250 kgf/cm?

Control types 1EHI7TV
Refers to page 3,4 285348

Displacement ;it&
15, 18, 23, 25, 38, 42,50, 70 (cm®/rev)

V 1 RIUSERS



TR

Feature: | | ||

1. Combining special internal designs and strict
engineering disciplines has reduced noise level to
new lows in whole pressure zones.

2. Depending on variety of application needs multiple
optional unique confrol methods are available. It

does not only reduce a number of unnecessary hoses,

pipes and control valves but also increase efficiency
and save horsepower, and cost.

3. Less capacity reservoirs can be selected and applied
because of performances of low pressure loss and
less head generation.

4. Wide application ranges: it is very suitable for machine
tools, plastic injection molding machines, forging
machines and other industrial machines etc..

5. Mounting flanges are made to SAE A or B 2-bolt (V 15,
18, 23, 38 types) and SAE-C 2 & 4-bolt (V50, V70 types).

2 FSTRERGT r@rn&m
3. HZEEHSNE

1.VRIIEER - LUBRSREIRIEBEBEEEIIRE - BEZE
R ZIEHZM -

FRIEFEERSIEEE
 BEFER R - EBEEEER - /)
BE ~ KRN ASTDEE

4. IDREER/) ;‘WEEEE;‘EJ:H » OIEECER/)VEUMAS
b.EZEARIER « K - RE - 2BAEH -

Specifications o

Max,Pressure | Displacement |DPisplacement Under Unloading Condifions|  pressure Adj. Range Input Speed Range Weight
l}\}/lodietl = (ERES ItHs BEEHBIBZIIEE 1/min(GPM) BEEsE [ElEEH(rom) =
2 2y |C.C/rev (in®/rev) kgf/cm?(psi) kg(lo)
kgf/cm(psD 1500rom | 1800rpm BEMn | B8 Max |
V15 250(3500) 15(0.90) 22.5(5.78) 27.0(7.05) 11.5(25.3)
V18 140(2000) 17.8(1.09) 26.7(7.05) 32.0(8.45) 11.5(25.3)
V23 250(3500) 23.0(1.40) 354(.11) 41.4(1094) 20.0(50.7)
V38 250(3500) 37.8(2.31) 56.7(14.98) 68.0(17.96) 23.0(50.7)
V50 250(3500) 51.5(3.14) 77.2(20.37) 92.7(24.49) Al: 8~70(115~1000) 50.0(110)
A2: 15~140(210~2000)
V70 | 250@500) | 697(425) | 10457.60) | 1254B3313) | a3 o0-210080-3000) | O | X | ssoqi2m
A4: 20~250(280~3500)
15-16 250(3500) 15/15 225/22.5 27127 24(52.8)
23-23 250(3500) 23.0/23 354/354 414/41.4 40(88.0)
15-38 250(3500) 15/37.8 22.5/34.5 27/68 36.5(80.3)
38-38 250(3500) 37.8/37.8 56.7/56.7 68/68 49(107)
15-70 250(3500) 156/69.7 22.5/104.5 27/1254 69.5(153)
38-70 250(3500) 37.8/69.7 56.7/104.5 68/1254 78(172)




Control Types IEHI5IN:

Control Type =B

JIS Symbols &R

Characteristics 1HERTR

Feature 4%

A Type:
Pressure compensator

i

. When system pressure reaches setfting pressure,
flow decreased automatically and pressure is
maintain steady.

control 2. Flow and pressure setting manually.
1. RIREIIESEEORER N - ERERE T -
AR, : P— L
BRI RHE EEEE -
B Type:
Multi-stage Flow & Single- 1. Flow could be adjusted from min. to max flow
and pressure is maintaining steady.
SiEige FliEsEIE COnie) T 2. Absorbing impact and vibration which caused
Type Q by up and down motion of actuators.
(With Cylinder) . , . o
1. @%ﬂfiﬁs’ikﬁﬂ?ﬂs’id\ ) BRI » BORRER
EfE -
BEUTY, : 2. {EHmAE EF  TIEEBIEEFR - PILLEE =8 -
HEYER - FEINEHEL - R P—

BUEEEL

C Type:
2-stage Pressure & Flow
Control Type

CHEIL\ :
ERMEBT]  MREER
N

. Lo-consumption electric motor can be selected
to save energy because of functions of high flow
at low pressure and low flow at high pressure.
When pressure increase and reach preset pressure
'PH", flow is reduced fo 'QL".

Pressure "PH, PL' , and Flow "QH, QL" can be
adjusted optionally.

It is applied to actuators requiring long unloaded
or short loaded strokes. Speedy and horsepower
efficient.

BEBARE - SBIREZIEE  BRRSEER
RENEBIELNE o
%ﬁﬁgﬂgﬁﬁﬂﬂﬂw%@ﬁﬂ% » REVRESED
[B7)'PH,PL' KAt 2 'QH,QL T D RIEREE -
%Fﬁﬁﬁ%ﬁﬁtﬁ » INBTRAE M, - REIR » &5

A N

Ao N

CG Type:
2-stage remote Pressure
& Flow Control Type

CGEIL\ :
EREEMRET] - MtE
BEI

QH

QQL

PL PH

Similar to "C" type control.

Pressure setfing could be controlled by remote
confroller.

. When combined with proportional pressure vailves,
pressure setting could be electronic controlled.

TREE" CEL MR ) » MiftE (BEETN) -
TS ERmMARE)EHE -
SIECSLEBIERTIR - SRS BIERIEH] -

W N

WN =

D Type:
Solenoid Controlled
Pressure Compensating
Type With Unloading
Device

DRI :

I SOL OFF SOL ON
|

1. Same as Type A and unloading function added.

2.1t is applied to systems requiring longterm
unloading operation.

3. When solenoid is turned off, pump operates
under unloading conditions.

This results in less noise and heat generation.

1. DIEER A BV B s e e i SR E B HRAE -
2, EAREBRR BRI -
3. RIFTHES - EERBIHEREREE  HENRES TR

p—> LHUEINE o

EEHE - BRI SR

1. High and low pressure can be controlled by switching

T directions of solenoid control valves.

E Type: 2. This type is applied to actuators requiring 2-stage
Dual Pressure Control Q| SOLOFF| SOLON pressures with single speed.

3. One of "PL" and "PH" relief valves can optionally

be high pressure.
BTN :
SRR EERR 1. MAEHEER - EHSEMENDRERS] -
P||5 PH 2. BREEERET » REWRLIEBIRFER -

3. TIfERE"PL"SL" PH" BIFAR B IEEHIR -

SHEER




Control Types 1ZHI5IN:

Control Type 28

JIS Symbols SREERFIR

Characteristics 1EERTR

Feature 4Fi%

EG Type:
Dual & Remote Pressure
Control

ECHUE :
BEEEMREIRERN

1. Similar to "E" type control.

2. Pressure setting could be controlled by remote
controller.

3. When combined with proportional pressure valves,
pressure setting could be electronic controlled.

1. DEER EIEMmBRE D fER N E B -
2 OEEE R AR B D E -
ST ELEHIRTIRM - EME LB TIEH -

F Type:
2 flow, 2 pressure controlled
by solenoid operated valve

PR -
BEERWERE) - MRS
ey

SOL OFF

SOL ON

1. Actuators can be shafted slowly(high pressure &
low flow) or quickly(high flow & low pressure) by
switching direction of solenoid valve.

2. Pressure "PL", "PH" and Flow 'QL", "QH" could be
adjusted manually.

3. Pressure "PL, PH" and flow "QL, QH" can be adjusted
optionally.

1. IREHIBAREGERARERSE/)REAIIIEE -
EEHEER - BNASEPH  REREZEQL -

2. [B7IPL ' PHRAEQL » QHIIEEFAEE ©

3. ERRIREITARIB R SRR WIRERIEF -

FG Type:
2 flow, 2 pressure controlled
by solenoid operated valve

FOR -
BEERMERE) - WERE
e

1. Actuators can be shaffed slowly(high pressure &
low flow) or quickly(high flow & low pressure) by
switching direction of solenoid valve.

2. Pressure "PL", "PH" and Flow "QL", "QH" could be
adjusted manually.

1. DDEERE)FEEE, EERIRAEHIMERET]  MERE .
2. TfEEEERRREIEE
3. TECSLEBIERTIRS - SEREIELL BRI ]

G Type:
Remote pressure com-
pensator control

1. Same as Type A.
2. Pressure can be adjusted remotely by infegrated
remote pressure control valve.

1. BEIfME A -

G : A S
N | 2. IUHGEERER]  WMEERAERIHE -
RIEBRTIHER

An ideal energy conservation system, "Power matching
H Type: 1 system",can be configurated by combining the

Power matching control

— o

proportional directional control valves with this control
system..

HEIT 1. UEALFRERLL FIREIRINEFS - BETE ARV R RERRM ©
TR & &) AR EH| 2. EfETRE » EHEBEILHRE - FERE » BamE
1. Best solution of energy saving.
2. With two load sensing valve controlled setting
HK Type' pressure and flow to reaching maximum energy

Proportional Electro
hydrauic Load Sensing Type

HKEYTN :
SRLEFIET] ~ RESSRE
FE -

&

saving.

When Combine with electric amplifier PC board,
flow & cut-off pressure transfer into input current
for proportional control for pressure and flow.

w

. RIEBAVENRERZ BDBIEIRIR .

. BREMNSHREEHRMEMEANENIRAE,
EDRERBERETIREE .

EESINRMAR, EREMNSBREBIIRIDENAZRN
WA ERMAALLGITVETD ~ FELES

N

w

SHEER




Control Types =I5

SHTEEH

Control Type =i

JIS Symbols &EET5RE

Characteristics MEEERH#R

Feature 4Fi4%

HJ Type:
Electro-Hydraulic Pro-
portional Pressure & Flow

Electro-Hydraulic proportional Pressure & Flow Control
Type

This is an energy-saving type control which regulates
the pump flow and load pressure to be at absolute
minimum necessary level fo operate the actuator.
Pump flow rate and cut-off pressure are controlled

l proportional to the input current to the control
device on the pump and the inputf current is

Control Type

SEER —

| | regurated by the specific amplifier.
HUBEI, : v
R & B BRI Bl | i BN — 1. Bff'H BB  BIBINBISEBE
Rt - i (N~ ANER—>K) 2. RECEMLLBIBRTI%E » IRADIBRECHIER - SEFIEAE
L BERR S /IHITIRE -
Load Sensing Compensator
grosennaneennanaoag The "HL" compensator is used for load sensing circuits
P and is a true load sensor. This is the "B" compensator
HL Type: I T with a pin in the compensator. The pin prevents pilot
i - H P ) v flow from entering the circuit which will eliminate
Load Sensmg Compen | PO, i i | 0t creeping of the load. The "HL" compensator will let
sator . ME:—[-[E : . el the pump deliver a constant flow rate to the circuit
i il | i by providing an adjustable 'P across the customers
1 ) e . = orifice or valve. The pump will operate at 17.2-27.5bar
HLEYS, - : (250-400 PS)) above *Load Pressure’,
EEIRR i < ’ .
B7— 1. MRS ERIFEpIRBENERE - FHEERE -
2. S SR EE - A HEnREIEE - B

BERELEDINERE - E2EEERIDEE -

Cautions: REEEE

1.Hydraulic oil — REHEEIEFEE

Oln case hydraulic pressure is under 69MPa (70 krf/cm?), use 1. EEJITET0KGf/cm AT RS - S5 B 1SOMLE EAE 7EVG32-68
hydraulic oil which is corresponding to ISO VG32-60 in viscosity R RS ER R

grade or wear resisting hydraulic oil. - oI , 522 w &3 _
©In case hydraulic pressure is over 69MPa (70kgf//cm2), use wear 2. gggg%gg%gl;{fﬁ PREIEISOMEIRETEVG 32

resisting hydraulic oil which is corresponding to ISO VG32-68 . o - i

in viscosity grade. 3. ERMUTRERHE - BEEST « BEILEESRX—HEER
OIn case the following oils are used, please consult with sales W/0ZL ~ HWBF » BEFNSHE AR5 -

representitive such as Phosphate ester family, Fatty acid ester

family, Water+Glycol family, Water-in-oil emulsion, HWBF

—  FEFIHE
OFBTEMEL5-40 me/S - HR0-60' CARIEHHEEEPIRER -

2.Viscosity and oil femperature
©O0il viscosity ranging from 15mm?/s to 400mm?/s and oil
temperature ranging from 0°C to 60°C are recommended.

3.Alignment and installation of pumps =~ RVZEHMRIL
©OEccentricity between the driving shaft and pump shaft should OEREEMFIRENAVRINGE0. 05T » ERE E FEEEEE
be under 0.05 TIR, and operate the pump in such a way that AR

the pump shaft is not subjected to orthogonal force. If centering
between the driving shaft and pump shaft is incorrect, the
bearing and oil seal may be damaged and noise and vibration
may occur, which cause trouble with the pump.
©OAvoid driving the pump in the lateral direction by belt, chain
or gears. (This may cause noise and damage the bearing.)
©OThe pump can be operated with its shaft mounted perpendicularly.

OE#MOA—HE > SELEWE  ORREEE BE R
8 URENRBEHERR -

OB R HRIFEMSEHHO - BINESRE - GEREE
RS FEMFBRNRR) -



4.Piping work

[T ZEE

g SHERNZR

©OUse parallel thread pipe joints for the suction inlet and
discharge outlet. Do not use taper thread piping joints, or
air may infrude or abnormal noise be produced.

©OIn case where steel pipes are used, lay piping with care so
as not to put force on the pump.

©OEccentricity of a pump being forced by piping may cause
serious trouble with noise.

5.Drain piping

OIRHEOMBEMORNEREE - WERKREETFIZEN - /A
HINE  BESZREN  EEERRS -

OF® » LHEREFEIEAZFITNERRIL -

OEEEHITNRL - RELXIZENRARR -

h - HiEHE

OLay the drain piping independently not joined with other
return lines, in such a way that the pump internal pressure
is under 0.04MPa (0.35kgf/cm?).

©OLay the oil return piping under the oil level of the tank and
as far as possible from the suction piping. (refer to the table
below)

6.Cautions for starting

ORFHE - HEMPERERESH - ZEBEH - FIF
REXAIBEEIITE0. 35kgf /cmA T ©
OEMEREENAHERENT » TRSRHISHE -

7\~ BEEFREER

©Before starting the pump, fill the pump case with hydraulic
oil using the case drain charging port on the pump body.

©Do not operate the pump at full speed right away. Instead,
turn the motor input switch on - off several tfimes so as to
extract air from the piping, then operate it confinuously.
At the start, be sure to reduce the pressure or operate it
unloaded.

7.Revolution direction

OREEITRAD - BRETHLENREH - ERBFTWHES
KE -

ORLENF » AETRFETRIEE) - EEA)EESNHEFRASREN-
OFF - FEPMZERIHEBEEEE - BUEETESSH
EEEARREESD -

T EE5E

©Shaft rotation is clockwise viewed from the end of pump
shaft. In case reverse revolution is required, indicate it by
Model No. at a time of your order.

8.Suction pressure

OLAZR#EiIm/S A - IBEFET BIRLESM - RBE - EJEEIERE
EFERCER L

N\~ IRHEEA]

©Adjust suction pressure to within-16.7kPa (-125mmHgQ).

©High suction pressure may cause cavitation, damage of
parts, noise and viblation which greatly shorten the life of
pumpPs.

Q. Filter

O HEEIFEREF-125mmHg AR -
OIRHEN-F - RIEERE - THZBR  EXRE R
g - |fFE -

.~ RS

ODeterioration of the hydraulic oil may cause frouble with
the pump and shorten its life. Carefully control the quality
of the il so as to maintain the deterioration of the oil within
Grade NAS9.

©OBe sure to affach a suction filter of 150 mesh fo the suction
side and a line filter of 25 to the return line of the discharge
side.

10.Max. working pressure

OREEHE)EZR - EROMIELIRSWmRENRE - 5F5E2
ERREHEYSE - BHSREENAS REA

OERHOFER150E/K MRS - ELOME EHUER
25uA T HYIEIHER © 140kgf /e A ERVRS - SRIER10URY
igHES ©

T REEREET

©Operating period at maximum working pressure should be
under 10% of one cycle and the retaining period should
be under 6 seconds. working pressure are described in the

ORBEITEBHNEE - (FR—EBIRIGUT - RIFEHE
fE6MLIA -

operation manual.

OFRESERRBIZEER BRG] - FFSIRERRA -

BE iy V15, V18, V23 V38 V50, V70
Size of pipe joints 3/8 (I.D. 8.5 or more) 1/2 (LD. 12 or more) 3/4 (I.D. 16 or more)
BERERY (& ¢ 8.524F) (RE ¢ 1224 L) (RE ¢ 1624 L)
1.D of pipes Dia. 12 or more, Dia 15 or more Dia. 19 or more
HERE ¢ 1280 E ¢ 15B0E ¢ 19BAE
Length of drain pipes Under Tm Under Tm Under Tm
BRER TMATF TmEATF ImEAF




RER

1. pump body g2 24. pilot cover LIS

2. pump body, end cove AEEE 25. sleeve,swash plate HIREE
3. swash plate BRARESEE 26.Bolt PR

4. swash shaft A 27.lock nut URNE

5. sleeve,swash plate RS E 28. washer cylinder FES

6. shaft i [N 29. washer cylinder E=35|

7. cylinder block SEZETIE2 30. control spring il EE
8. cylinder block holder HEER 31. servo spring {BAR5EEE
9. slipper retainer SBHLRENINR 32. vetainer spring EN75EEEE
10. piston and slipper, crimpe SEZERE 33. bearing front LTS
11. slipper plate B 34.bearing rear B
12. valves plate EHIR 35. snap ring IR

13. sleeve piston SEEED 36. snap ring for bore EIREI0IR
14. servo piston sleeve EIREEE 37.0-ring SHET

15. pressure compensater SAER2S 38. o-ring SHES

16. compensater spool BRI 39. o-ring SHEY

17. port plug ZEg8 40. o-ring SHEY

18. spring seat SEEEIREE 41. shaft seal BHHINEHES
19. screw P 42. bolt-end cover Z=IRHR
20. gasket BF 43. bolt-side cover ERARLR R
21. servo spring seat HERIRIBEE 44. bolt-compensater IR IR
22. cover-flow controller TSR 45. bolt-flow controller IRHR

23. flow adjusting screw e IR 46. o-ring SHEY




Typical performance characteristics I4EERFIT

]
E B
&
General performance it
characteristics gs &=
EBEHRIR 3 8
100 - | e o
90 Velurretr 41 AR T T
380 ~
% // Dverall pfficiency £
70 / 7
1
360 — = 30412
= Displagcement fig
:g 50 l' 257110
i 40 MS&" 208
T 30 /// 1576
20 /, 10 4
10 T out pdwer atjnead_ '-—a" 51°
0 s 0Jdo

0 34 69 103 137 172 206
(35) (70) (105) (140) (175) (210)

—> Pressure [E7] MPa (kgf/cm?)

Shaft input characteristic

BRTDSRFIE

-
a1

-
o

)
&
A

)
g
1014
56

L

)

—> Shaft input EZHZR(KW)

(92

]
/
L —

AN

4
[_—

0 34 69 103 137 172 206
(35) (70) (105) (140) (175) (210)

—> Pressure 7] MPa (kgf/cm?)

*Input speed  BHEEIR : 1,800r/min
* Ol {F M : 1ISO VG32
* Oil temperature # & :50°C

~
[é)]

70

65

V15

TR ER

800‘» | T\.\\'\

J L~ !
5\59\;; 3 45000
\X\"’* Lo .

[e2]
o

— Noise level [R2E{E (dB-A)

[62)
[6)]

St

PC Bitrs

O out BFf narinA
T HPeH

o

0

34
(35)

69 103 137 172 206 245
(70) (105) (140) (175) (210) (250)

— Pressure B/ MPa (kgf/cm?)

Dead head shaft input

BREEIEEN IR
B
¥
E 20
=
=1
a
£15 //
s e
s L~
ac 10 ~
f? : /M 34 types FZY
05 == T FypeHZ 30
00 34 69 103 137 172 206

(35)

(70)

(105) (140) (175) (210)

—> Pressure 7] MPa (kgf/cm?

Drain volume characteristic

_ b LI

E

ﬂ 20 :

® 2,3 Type fzz\

g o L

=15 PCgroa

9 11 " »PC pefiod

£ € TTH I r PC period

© AN

a 10 ;

T rPC perod J/
05 J
0O 34 69 103 137 172 206

(35) (70) (105) (140) (175) (210)

—> Pressure 7] MPa (kgf/cm?



Unit B8fil: mm

BDimensions AR TYE : (Mounting Surface: SAE "A" 2-bolt)
V15,V18 A Type

191 44.5

EHO

70 Case Drain Inlet

bz ]
Case Drain PT 3/8"

M3 B

. = Pressure Adjustment
B 27 04,7635 x37 : N
Flow Adjustment 6 Pt S
\[ =
- m 'Q
e - o
~ — e}
0 &l
= (=]
) L oAl Wi :
0 1 v
7& é _ ] ] g OUTLET @25
825 [ H
— 2115 315 2130
4-MBX20 |—°
Em— 35.1 219.05-0,025 m|
i RES INLET @25
169.5 = 131
331
168
FEBIRT OPTIONAL SPLNE
SAE "B’ SHAFT
(OPTION B')
13T00TH 16/320P
30° IOLUTE SPLNE
V15, V18 B Type
EBRE
SERO Pressure Adjustment
Case Drain PT 3/8" 70 44.5 40
MIN34 5 SERO
121 o Case Drain Inlet
142 =
2
k{ e
. -~
° | | C I:»h— 476,975 x32 o 1
3 ] |I| o » hy
=] -s]—'\ — =—|—| o o — B @© 4/ N ?c’ ®
7 — —
P 9 iz el
g S ¢ =2 ﬁy & 0=
i — g _d 030 N 4 °
925 H—=—3- N _/ - 7 @
l | N8 9
4-NBx20 —p 2 g 40 &F%
2l ¢ OUTLET @25 R47.5.
17 105.6 A0
147 INLET @25
169.5 131
168
SREHREE
V1 5 V1 8 C T High Pressure Adjustment
: ype ]
N KRR
[E7aEE 192 Low Pressure Adjustment
Pressure Adjustment MAX B1
)RR . 7
Lo-Flow Adjustment 48 |
AR i rL—’_‘—‘ N
Hi-Flow Adjustment N N }? 1
476.09% x32 -
[Te)
© —+ 5 8
8 o f S
f (H’; ﬂ= ﬁy @E—f
L oy 22l 8 ax AR ZILaeR I
925 - g2 H0 N / AN T 8
K o 5 OUTLET @25 % =
4-MB8x20 2 S| s
- 35.1 s R47.5)
Al — A0
147 105.6 INLET @25
169.5 131
MAX 283 168




TR

Unit BfiZ: mm
BDimensions AEIRYE : (Mounting Surface: SAE "A" 2-bolt)

V15,V18 D, E Type BEEIRE

Hi-Pressure Adjustment

T (BB
PC valve Lo-Pressure Adjustment
ié(‘)%r?fid Valve . MAX 81
o 275
TETE 445
Flow Adjustment 18 T ~
] L 9
= [ _%
N 7
— [ = 476.9%%5 x32 —+ ~
e T
© HErrR A
(3l - [Te]
R PN PN~
al—— A s 3 OUTLET @25 fa @
- PNV \ ) L/ = \
(3 24 g 5 n
&0 STnm gl | ¥ RAT: a ] go| o
OUTLET @25 1 AFFi _[ [P ——es o2 71 \NE| @
4-M8x20 oy 5 3|z :
4 2
Y S A3
(a7 L7 105.6 Al
131 INLET @25
169.5
206 : 168
V15,V18 F Type AR
e .g?t‘%.",,f"' o Hi-Pressure Adjustment
AR o100 165208 (BRI
PC Valve 30° INVOLUTE SPLINE Lo-Pressure Adjustment
Solenoid Valve
INREIRE 275
Lo-Flow Adjustment | 445 =
. _ I 48
AFBAE «l—— . ki
Hi-Flow Adjustment ﬁ . . P
5 1 — *m— 476.8%° x32 — .
Q| 1 ] <|o
R il AN
8 el — . 24 i
| I and ( la L °g ﬁ =N/ =ie
8 ——— 8 D= N —
— 0 S 30 N LATIN ™
&0 gl » o\ J
OUTLET @25 ( L H4—eStesl = N / 1% 3
o l | o 3| ©
41-M8x20 9 s| =
5.1 b IS R47.5| —
1.7 fas] | / 105.6 A
e T OUTLET 925 131 INLET @25
MAX 283 168
V15, V18 G Type L
- SRR AR
s . PC Differential Pressure
EEO 94 44.5 - ]" Adjusting Screw
Vent PT 1/4 | 48 -
RO
MEEE T 34 1 T‘T Case Drain Inlet
Flow Adjustment ! 6
| = h
\ o [aN]
L = 4.76.09% x32 XS] P
|I| -y TS
| I ~ folal
5 ‘ 7, | r =
e 7 ki
0 N 8
OUTLET @25 — 24 B I ¢ 30 o
| _[ | o§ _O‘LE w
4-M8X20 S RS R47.5
|| |35 9 HO
1,7 OUTLET @25 /
147 Ad
207 INLET @25




Typical performance characteristics I4HBEFI%

i
General performance ég ==
characteristics ==
£ HERRHR 3 8
o o
100 =
olumetric efficier|cy 2SR
90 = —
80 | Overall efiiiendy £
W0l / _
L
3 60 / 7
c
(0] -
;g 50 Displagement ftE e
Salf S 40 20
T Q\'\(Q
30 ) 3015
/@X’]B
20 /,’ 25110
10 = oo EW-;—‘ 1045
0 = — 040

0 34 69 103 137 172 206 245
(35) (70) (105) (140) (175) (210) (250)

—> Pressure 7] MPa (kgf/cm?

Shaft input characteristic

EHINERAFIE
= 20
K 7
215 w"\4 >
= A § o
< 2 %@Q",L &
E 10 / B> S
% el
T 5 // /
=
% 69 137 206 245

(70) (140) (210)(250)
—> Pressure [E7] MPa (kgf/cm?)

—> Noise level [
[e)] [e))
o (4]

[6)]
o O

TR ER

V23
et 184
™ d\Sp\a %m
e 150
o— ]
| (
o—T & !
I PC cut-off period
PC #iitss
0 34 69 103 137 172 206 245
(35) (70) (105) (140) (175) (210) (250)
— Pressure B/ MPa (kgf/cm?)
Dead head shatft input
EPEEIREMINZR
g
B
R
=
3
£30
£25
? 20 —
15
10 '63.41v:es%2i\§
05 X Typa #3
34 69 103 134 172 206 245
(35) (70) (105) (140) (175) (210) (250)
—> Pressure 7] MPa (kgf/cm?)
Drain volume characteristic
_ EREE
£
il
n LS 2.3 Typbs o3k
[o)
£ PC period
512 = )
o 1 type *ﬁ f PC pgriod S PC period
£ fac pFriod
5 08 :
T PC rssnod ) /
04
_l_a—//
0034 69 103 137 172 206 245

@5) (70) (

105) (140) (175) (210) (250)

—> Pressure [B7] MPa (kgf/cm?)

*Input speed  EREEE : 1,800r/min
* Ol {EFE3M : 1ISO VG32
* Oil temperature 5B & :50°C

11



12

BMDimensions AR TE : (Mounting Surface: SAE "B" 2-bolt)

V23 A Type

p:pie: |

Case Drain P/T 3/8

B
Flow Adjustment

MIN 51

0635°9%x35

o | Y ] 0
b s by,
[ o Les
AN E
H § o§ -
#0 A | L g
OUTLET @25 I
26.2 11,2 -
4-M10x16 [ 170
227
7E8AR T OPTIONAL SPLINE
SAE ‘B’ SHAFT
(OPTION 'B")
V23 B Type 13TOOTH 16/32DP
30° INVOLUTE SPLINE
SR
Case Drain PT 3/8"
MIN 51 585
2.7
142 06,3 4§92 x35
e s -
30 _ﬂﬂ:H:@:‘
g ¢f
] L
z o o
kG S / 2
<L a N ——t g
KRS AN 5
’:Eé [ 8.8 ®
|} | | el o 8
OUTLET @25, 152 — B I
4-M10x16 [
170
V23 C Type
RS 213
PC Valve ‘T%ED
Case Drain PT 3/8"
N s e T oI MIN 51| 585
INREREE
Lo-Flow Adjustment _.l__12_7
e 9
KAEHRE

Hi-Flow Adjustment

=H

4 4 _;h:

5[ 8
ilINA / N
HH wiiili [ L L
OUTLET @25/ | Ik I W ~| 8
282 12 {
4-M10x16 | 170 s
MAX 303

06.3 1392535

2101.6-8.05

[EAF G

Pressure Adjustment

[EB7IRE

Pressure Adjustment

OUTLET @25

WO

Case Drain inlet

Unit B8fil: mm

sEHO

Case Drain Inlet

A
INLET @25

SEHO

Case Drain Inlet

INLET @25

BEEIREE

Hi-Flow Adjustment

EEEIRE

Lo-Flow Adjustment

o
°
_E.
_E.
£H0O %
OUTLET @25,
2172

13.5*3>

93

67

R60
146

180

A
INLET @925



HEEEEH

Unit B{iZ: mm
BMDimensions AERTE : (Mounting Surface: SAE "B" 2-bolt)

SRR
V23 D E T High Pressure Adjustment
ype
’ Vi i gkl
B 2975 Low Pressure Adjustment
Pressure Adjustment — [EAECEd a2
> ez PC Differential Pressure
E}ﬁlgid Valve Cose Drain PT 3/8" Adjusting Screw

MIN 51 58.5
12,

063 3% x35

MBI 4

Flow Adjustment

11

T [ b
‘| 13582
93

H \\I:
OUTLET @25 OUTLET @25, &

fae] |
4-M10x16 / 8172 RSD AO

$101.6.505

i T%%m
I — /¥
|
e
i
¢%I |
25.08.023 L

/
67

N

170 INLET @25
| z L ms
' 180
V23 F Type OPTIONAL SPLINE = 5
T ST SRR
[EaERES (OPTION ") Hi-Pressure Adjustment
= 13T0OTH 16/32DP ——
Pressure Adjustment 30° INVOLUTE SPLINE (KRR R
Lo-Pressure Adjustment
e e B '
Solenoid Valve B0 o Z= B
e i 4 PC Differential Pressure
lJ Wﬁiiﬁ]g Cose Drain PT 3/8 MIN 51 58.5 Adjusting Screw MAX 82
Lo-Flow Adjustment 12.7]

KRR JECEE deld

Hi-Flow Adjustment

[Ty

- et

l7 : _ I
5 $ @ o
RN IViaY [oi b
NEINAIIRNEZ TR
f el °%
$0 - —[ mel N 8
OUTLET @25 g~
26.2 1.2 A
4-M10x16 INLET @25
170
MAX_303

EEaE
V23 G Type Pressure Adjustment [EBIERERIE R
PC Differential Pressure
M

i
EiEO Cose Dram PT 3/8" B0
Vent PT 1/4 ‘ WIN 51 Case Drain Inlet

TR

Flow Adjustment h s 0 63200%5x35

925
F—
e
l—

\-(
D

: i |
- =
n \y 71 § _glr g
i [ | Fol 3
] . AT N
OUTLET @25 g ®
262 112

4-M10x16 [

| 227
T

Al
INLET @25




14

TR ER

V38 Series 35l 5 0

< in
o \s aoeme“\ 1 oo
e NES d%{ %5
@ro [ e00f/min
i /ﬁ/\ﬁ A
LK d : } R
Tes | o1 '
@ ! PC cut-off
2
S60 X
55
0
0 34 69 103 137 172 206
(35) (70) (105) (140) (175) (210)
— Pressure E71 MPa (kgf/cm?)
Typical performance characteristics 14EERFIF
il 5
General performance SEis
characteristics g= 8= Dead head shaft input
14HERRHR 8 § EPEEIRER IR
1;)2 Volumetric efficlency E%ﬂ i T T g
< //(V iCil P> g
80 / E
§70 / Displacer 70935 et
360 /A v 60 30 230
5 / < 5025 E 25
2] Pt : P
i 40 2 Ny 40 20 520 =
| N =% ] 7 A
30 // . 3 30115 15 284 types FAH
20 /, 25410 10 {/
i 1[Type fE30
T Apufower b ge_ecmeaﬁ?—ﬁ*g—“;ﬁ 1095 05 “r (e
0034 69 103 137 172 206 245 °°° 0032 69 103 134 172 206 245
35) (70) (105) (140) (175) (210) (250) (35) (70) (105) (140) (175) (210) (250)
—> Pressure 7] MPa (kgf/cm?) —>Pressure [E7] MPa (kgf/cm?)
Shaft input characteristic Drain volume characteristic
IR AFIE - RRETE
5
E % 16 PC period
B 40 &) 2,34 Types 230
I ° » PCd¢riod
% 85 o g 12 PC period
3 30 D £ FO[piee
-E . ,1%2 '«‘\/\(\ .% 1 Type Fzh i
© AP o
& 20 /,/ yf’wll:\\ﬁ ? o PC period
s i — )
10 // . 04
5 /4/ J —
00— 34 69 103 137 172 206 245 0034 69 103 137 172 206 245
(35) (70) (105)(140)(175) (210)(250) @5 (70) (105) (140) (175) (210) (250)
—> Pressure [&/] MPa (kgf/cm?) —> Pressure [B7] MPa (kgf/cm?)

*Input speed  EREEE : 1,800r/min
* Qil {E R/ : ISO VG32
* Ol temperature H & : 50°C



HEEEEH

Unit B8fil: mm
B Dimensions NAERYE : (Mounting Surface: SAE "B" 2-bolt)

V38 A Type

pacyisi | RO
H " 1L
Case Drain PT 1/2 Case Drain Inlet
51 585
[ 12.7 ]
MEE f— r SEER
Flow Adjustment 9.0 Dw E7#RE ) o
e Pressure Adjustment
i Vi N
o | \;l:_ No Y g /‘\\v\\ = 2
oIS 2 iy 1 1LY I @\ =l
o8 !
AN 5 () @e—L
2 fj} %% —— 5 i QK’/)- '—
: & gl ® $0 N R
L S e = @
+0O il _[ — N OUTLET @131 ﬁ/ \
OUTLET @31 2 ||tz 8 © 0172 R60
4-M10X16 146
R —— 5 Al
179 160 INLET @931
233
! 196
‘22.9’
331
4
ERIRT OPTIONAL SPLINE s -
V38 B Type S B s A RO
(OPTION 'B") Pressure Adjustment Case Drain Inlet
13TOOTH 16/32DP 3
58.5 30° INVOLUTE SPLINE
51

N O
1 Case Drain PT 1/2"
L

142

63 4% x35

640 -
E‘l:'..
N8
73"
I=
=i

5
® (
A 0 i N
O OUTLET @31 1 \
OUTLET @31 >
4-M10X16 8172 A R60
146 AO
INLET @31
160
196
SEEIE
Hi-Pressure Adjustment
V38 C Type 0 R 1SR
218 Case Drain Inlet Lo-Pressure Adjustment
58.5
SEERRE 51 MAX B1 /
_ PC Vavle
IRERE 127
Lo-Flow Adjustment N ~
Lo}
AREHEE ]
Hi-Flow Adjustment N R +h
i h 63 99 x35 _
] o &
0 xrey '; | -
P9 .
)C ) " ﬁ 5 3
n.
HO gl |8 I
OUTLET @31 —| | . ; | R
4I—M1Dx15 )
T 30,2
11,2 R60 A0
179 106 INLET @31
MAX 308

15



16

HEEEEH

Unit B8fil: mm

BDimensions AEIRYE : (Mounting Surface: SAE "B" 2-bolt)

SRR
V38 D’E Type Hi Pressure Adjustment
302 58.5 EBENRE
o g Lo Pressure Adjustment
BH e 5 ’
Solenoid Vavie ave 12.7 MAX 81 /
Lo /
N Ty I
B = AP B
Flow Adjustment h
) T 7 6.39% x35 e
=0 | B 2R\ of &
A et ~ : NG
3 )C) s E 0 ! DH—R 14 |
) " S — |
% ﬁé [&%’ gl g & OUTLET @31 \ ?:E - | o
Fo| 5 \ So
— |1~ s J tn
O | & 1 %’L‘\ Y \NQ
OUTLET @31 302 s 2172
4-M10x16 11,2 146 A
179 160 R60 \ INLET @31
233 196
I [ SRR
V38 F Type B TN Hi Pressure Adjustment
DIETRG KRB
P = "
302 I CrONATGIRE Lo Pressure Adjustment
%ﬁﬁﬁ aE 75.4 58.5 SAE 'B' SHAFT
Solenoid Valve AR 51 131183}1?’:653; op MAX 81
Ny PC Vavle 12,7 300 INVOLUTE SPLINE
INRERE e
Lo-Flow Adjustment I o
Lp)
KREHE
Hi-Flow Adjustment
r 1
? k]
= JA\
¥ b} /)\ L —
fue] M| $ 3¢l oo 2
OUTLET @31 — NS
4-M10x16_/ § 9
30.2 1.2
179
A0
MAX 308 R60 INLET @31
V38 G Type
119 58.5 39
A MIN 57 6.5 [EEVAEGE 2
Vent Port 51 - PC Differential Pressure
Adjusting Screw
12.7_
9 b ps: |
. ~ 1T M Case Drain PT 1/2" ]
TEEE 44 | .
Flow Adjustment D | ~
L 74 63 5% x35 ©
{ = | [ & =
I o 7 LV
P I—) e
L[ b/ ] i N o
w0 l I OUTLET @31 \ o | 2
—|— — N
OUTLET @31 N G 9] &
30,2
R
4-M10X16 11.2 9172 60
- 179 146 A
INLET @31
233 | 160
' 196




75
<
m
S
@70
Hm
2K
Q65 .
2 3
3 PG %Jé;j p:rioc
Yol I
=60
55
0
0 34 69 103 137 172 206
(385) (70) (105) (140) (175) (210)
—> Pressure B/ MPa (kgf/cm?)
Typical performance characterisitics 14EEFI4
General performance o
characteristics EE 33 Dead head shaft input
£ HERTH#R g ; BPEEREMIIR
153 Valumetric efficiency BAERIER 8 & =
- =
=80 /’/"‘°’°" fiionoy MK T T B0
70 A - =
® / =35
360 / - S30 —
= X enr 6= /
S50 Displacement i 100 50 £25 e
i 40 / 5 8040 Z20 ,,/‘ 23 types FZTH
’ qiopS i T //
30 oS '&’)’ﬁ: 60130 15
20 T8 404 20 1.0
10 @ [ af dead ez 3 20410 05
% 23_4- 69— ;33—13; —17-; 206 00 0
@9 (70 (105 (140) (175) (210) ° & & 83 di 1% &8
—> Pressure 7] MPa (kgf/cm?) —> Pressure 7] MPa (kgf/cm?)
Shaft input characteristic Drain volume characteristic
EHINERYFIE - BRETIE
50 §, 45 ,o_TMbIH;ﬁ .
E 45 % a0 PC period
B 40 @3 35 . .
E ) W € peripd € peritd
g% S 2 25
& 25 ‘S
& 20 e f 20
T / S 15 i
15 ~ &@ Y 1
. A://// s .0\““\:\‘ 10 ///
1 — s 05
5 — —
0 0
0 34 69 103 137 172 206
O 34 63 (% (436 4%8 8%

—> Pressure [#/] MPa (kgf/cm?)

(35 (70) (105) (140) (175) (210)
—> Pressure [B/] MPa (kgf/cm?)

*Input speed  EREESR : 1,800r/min
* Ol fE5FE3H : 1ISO VG32
* Qil temperature B & :50°C

TR ER



18

A EEREE

Unit Bfil: mm

B Dimensions NE!RYE : (Mounting Surface: SAE "C" 2-bolt & 4-bolt)

V50 A Type
by || 33
Drain Port PT3/4" A0 B7IHEE 4.
Bl 204 57 Case Drain Inlet Pressure Adjustment 68 205
NP Lock nIJt 8 | Eyebolt 215£0.4
EHE 102 V_M
Flow Adjustment Pc Valve 70 7941339538 §
M12XP1.75 Depth 20 —
o
. T
~ O§ o ? il x
Il — ~ g @
II:HD : N~ M g fat,
OUTET G40 1] — & o y B
0l <
i o 2
OUTLET @40 ﬁ
185
35.7 70 8t AL
2475 210 INLET @40
= ,J | <222, / 252
2l @161.9
14TOOTH 12/24DP
30° INVOLUTE SPLINE
V50 B Type HRT SPLINE SHAFT
SAE °C SIZE
(OPTION 'BY)
e EH0 E@E
. " =) o 95
Drain Port PT3/4" o Case Drain Inlet Pressure Adjustment 68 294
8 | Eyebolt 215+0.4
142 102 © I/_L
el 2 I 70 4 7941353938 s
30 L
ol 4 ' F |
HIE + 2l < 2} &
| =Y & - & .
i ' ol :
3 5 ) & DL &
g =
fas] | he y B
OUTLET @4 _— _'—C‘Dx i y 83
185
M12XP1.75 Depth 20 2.7 | 7 H0O A
247.5 181
= OUTLET @40 210 INLET @40
/ 252
o6ty /
V50 G Type
BEa -
Drain Port PT3/4' ey BRI AR
or . O PC Differential Pressure -
) Case Drain Inlet ~ Adjusting Screw 68 %0,
EhaE] 174 |
Lock nut 8 Evebolt 21510,4
ﬁﬁi!ﬁﬂﬁé________ MIN 93 ©
Flow Adjustment i 7 1 7.94+3%39y38 Y
M12XP1.75 Depth 20
=ay —— o
T l— 8 o+ 2
o o - ¥ .
?\ ©

-

H0 4
OUTLET @31+

9127

ek

35.7

| 7

247.5
291

fur|m|
OUTLET @40

\_‘\ﬁ
I.P

95

104

181
A
| / ;1502 INLET @40

#1619/



TR ER

~
]

— e
0
_—

= v 15

b

U
[e)

C cut-gff perig
PC #itss

»
(&)

D
o

—> Noise level [2E{&(dB-A)

55
0
0 34 69 103 137 172 206
(385 (70) (105) (140) (175) (210)
—> Pressure E/J MPa (kgf/cm?)
Typical performance characteristics 14EBE4FI%
1]
R
E~F
General performance SEils
characteristics g= = Dead head shaft input
EEERRR 8 g BRI
100
% Volurhetric lefficiency @E?ﬂl#&" x T s
" x
g 80 ///r\mmm@ ﬁ 40
% ) i & pd
70 Displacetnent e 140 = 35 7
/ 3 N
360 [ 120 £30 -
E 50 / 1004 50 E 25 /
2 I XS ; ’ N 23 lypesd 2z
i 40 ’ 5 8040 Z20 Z
T 30 H D 6030 T 15 /, ks Tt
20 /'/ 40 20 10
10 -+ A= 204 10
M Tt poyer t de i | 05
0 ——— — oJo 0
0 34 69 103 137 172 206 0 34 69 103 134 172 206
(35) (70) (105) (140) (175) (210) @5) (700 (105) (140) (175) (210)
—> Pressure [/ MPa (kgf/cm?) —> Pressure /] MPa (kgf/cm?)
Shaft input characteristic Drain volume characteristic
EINERAFIE BREEE
50 £ 45
{?ﬂ- 45 / E 40 2.3 Types f¢z% PC period PC period
40 & "
g 35 9 ) / 2 85 C perjod
N4 30—+ £
g ST 5 0 —topestt
2 / ’\43&\(‘ g% » PC (firiod
2 B /) ; s 5 20
tis ISR (IRE —
g / A oot 10
| LA —— 05—
0037 69 103 137 172 206 00324 69 103 137 172 206
(35) (70) (105) (140) (175) (210) (35) (70) (105) (140) (175) (210)
—> Pressure 7] MPa (kgf/cm?) —> Pressure 7] MPa (kgf/cm?)

*Input speed  BREERE : 1,800r/min
* Ol {5 - 1ISO VG32
* Oil temperature SH & : 50°C



20

BDimensions AERYE : (Mounting Surface: SAE "C" 2-bolt & 4-bolt)

V70 A Type

7941333038

b pis: |
Drain Port PT3/4"
320 57
- Eyebolt w102
ﬁiﬁlﬂg P¢ Valye 73
Flow Adjustment a_p-!_ %
M12XP1.75 Depth 20 N
' 8
L]
4+
2 - /| <4
o —i
g= I s
1S

| M
OUTLET @40

Bl

o

\j%_ e
| 3 185

$127

35.7
256.5
300 -]
J ;22,9;
331
14TOOTH 12/24DP
V70 B T e 30°INVOLUTE SPLINE
yp TE#mR < SPLINE SHAFT
SAE 'C' SIZE
(OPTION 'BY)
gy |
Drain Port PT3/4"
Eyebol &
yebolt
142 NIN 102
— .
A Pc_volve 73 0 7947393938
30 =
I
(=3 —o
g/ ¢f T ||y
g al -E_ wl| oY
2 70 /|
o /D =27 31N
H0 ° % Ly/ ——&res
OUTLET @40 _[ | <
18.5
M12XP1.75 Depth 20 35.7 73
256.5
300
V70 G Type
pazhiilm|
Drain Port PT3/4"
320 57
183
;ﬁg%ﬁ]g MIN 102 o o080
Flow Adjustment i 73 = 7.94 10015%38
M12XP1.75 Depth 20 4 Eie ]
— o~
+ | b
1 . o8|y
“ Gl
o D [ | f =18 TR
&0 ol— v ¢ I Sle =
OUTLET @40 \ﬂ/ ST fe
185
35.7 | 73
256.5
300

EBHREE

Pressure Adjustment

74

A EEREE

Unit BEfiZ: mm

15.
¥,
2s
8 21510.4

8
o BT
= h ©
A&
=N ﬁy &
el e
+H0O 18 A0
OUTLET @40 208 INLET @40
L/ 205
01619 /
EBHIRE %5
Pressure Adjustment 74 205
8 215+0.4
A
d %)
©
a S
= i bt
/ -
ﬁy ydui it
. 8 9al
OUTLET @40 el e
181 A
// 22(2;35 INLET @40
161,90 /
PC Differential Pressure %
Adjusting Screw 74 Q5
8 215+0,4
d ©
©
a 5
= i hat
7 -
@Gk
w0 / \‘—?Er o
OUTLET @40 | gl e
181
/ 208 A0
7 608 INLET @40
#161.9 /



MDimensions N EIRYE : Axial Port B[ 75 HHEY

V 15/18A% *B

R

Unit B8fil: mm

191 44.5
papiss |
Case Drain PT(RC) 3/8" 70 ~ 33
EE7JEE 20 é)zalsﬂia%rain Inlet
FEE Pressure Adjustment =
AO Flow Adjustment ;
INLET PORT 0476 9 x32 T
BSPP G1(Threads code 40) - -
(IRHLEIE 60) .
SAE 1 1/16 (Threads code 60)
sz 60| & "o . p 2| 3
- 0 c§ ﬁ ] =
xR ' =) 48
o 9 7 =4 S=
ﬂé = [ 1 % El:l'_ ! i WiE= f
v7 :
=] -
57.2 2015 o) 9130 :
8.5 4-M8X20 I+
1 — 70 219.05 -0.025
168 o 13 105.6
HO 169.5
OUTLET PORT 131
BSPP G1(Threads code 40) =
(URAUEIE 60) 168
SAE 1 1/16 (Threads code 60)
(IFHUEIZ 60)
V23A>~< >.< B'1 0 ESMO BOEE
Case Drain PT(RC) 3/8" Pressure Adjustment .
s b o]
MIN 51 - Case Drain Inlet
127
:ﬁgg 9__
JLEdbIE
@) Flow Adjustment _ N
_N\j'}
I opt =
N & = |
fl Il 1 _h o | n "
AR aIE
SIS Vs Bl @ el
| I ¢ i 1
—d_"_ /)\;/éj L\i{\\\ B \’/b/ -d_ -
A0 LY QD 5
INTLET 925 & ONE:= . | H S e N
1 OUTLET @25 Yy ol
26.2 1.2 s s172 R60
66 72 - 146
8-M10x16 08,5
143 = 180
180 224
V38A>-< >-< B-10 pepes | EHEE p¥::
Case Drain PT(RC) 3/8' Pressure Adjustment Case Drain Inlet
[ MIN 51 585
R .
Flow Adjustment 5
D I;
BT+
N opT =
7 _E} ) = 2
f | | /n\ _ I3 ,_E_, N N _ N -
2 VA ijki Iy a e
TR e it
P SALIE % i
é’ A ) 3
AQ i i I "
INTLET /31 &% > N £2 e 1,
—_— R OUTLET @31 —=l— —
302 1.2 $172 R60
66.6 77 — 146
8-M10x16 98.5 22 196
160 236
196

21



Piston Double Pump Type VZAFItEZEEERESH:

TR TR

Model V15x15 V23x23 V15x38 V23-38 V38x38 V15x70 V23x70 V38x70

A 3/8-PT 3/8-PT 3/8-PT 3/8-PT 1/2-PT 3/8-PT 3/8-PT 1/2-PT
B 3/8-PT 3/8-PT 1/2-PT 1/2-PT 1/2-PT 3/4-PT 3/4-PT 3/4-PT
C 57 61 57 61 73 57 61 73
D 351 524 351 524 58.7 35.1 524 587
E 35.1 26.2 35.1 26.2 30.2 35.1 26.2 30.2
F 351 524 587 58.7 58.7 69.9 69.9 69.9
G 351 26.2 30.2 30.2 30.2 357 35.7 357
H M8x20 M10x16 M8x20 M10x16 M10x16 M8x20 M10x16 M10x16
I M8x20 M10x16 M10x16 M10x16 M10x16 M12x20 M12x20 M12x20
J 147 170 147 170 170 147 170 179
K 147 170 179 179 179 256.5 256.5 256.5
L 335 393 373 404 413 447 470 479
M 381 443 419 454 465 493 520 531
N 34 51 34 34 51 34 51 51
@) 34 51 51 51 51 73 73 73
P 6 9 © 9 9 10 10 10
Q 4.76x32 6.5x35 6.5x35 6.5x35 6.5x35 7.94x38 7.94x38 7.94x38
R 13 13 13 13 13 185 185 185
S ¢ 19.05 ¢ 22.22 @} 2222 @} 22.22 P 2222 $31.75 ¢ 31.75 $31.75
T 2115 25.08 25.08 25.08 25.08 35.35 35.35 35.35
U ¢ 82.55 ¢ 101.6 ¢ 101.6 #101.6 #101.6 »127 127 $ 127
V @24 @ 25 @ 31 ¢ 31 ¢ 31 @ 40 ¢ 40 @ 40
W ® 24 @ 25 ¢ 31 ¢ 31 @ 31 @ 40 @ 40 ¢ 40
X 106 146 146 146 146 181 181 181
Y 131 1455 160 160 160 208 208 208
Z 168 180 196 196 196 260.5 260.5 260.5
Al 40 39 39 39 39 74 74 74
A2 31.2 31.2 31.2 31.2 31.2 40 40 40
A3 5 5 5 5 5 8 8 8
A4 80.5 110 121 121 121 119 119 119
A5 11 135 135 135 135 18 18 18
A6 44.5 58.5 58.5 58.5 58.5 57 57 57
EE7JEEEE SEHRO
Pressure Adjustment Case Drain Inlet
SEHRO
Case Drain A .
T i 0

Case Drain B

Flow Adjustment

|

i
4

L

M

*Available to supply pump with anti-clockwise rotation.
Consult for details.

SEELANTRE - REFZEKIRH

22



SRR

SYMBOL SHEREC SR

B Model Code/ 8 & &7 BA

AR16E F R 01 C S K 10
L Threads Code ECESFEY

10: PT(RC) theard  PTH
40: BSPP(G) theard BSPPXHF
50: NPT theard NPTH

Shaft Type EHMNEZIN
K: Keyed 178

G: 16/32 DP-13T
T:16/32 DP-9T

In/Out Port Position A5
None: Axial Position 4 : #fi[c1]
S: Side Position S:{AlE

Pres. Adj. Range (kgf/cm?) EEJAREEEE
B:12~70
C:12~160

Control Type PEHIAITS

01: Pressure Compensator Type  [E/JF{EHY

HL: Load Sensing Compensator  XEERY

G: Remote Pressure Compensator ZiLE/J#{ER

Direction of Rotation @#&F5[0)
Viewed from Shaft End EiE11R &
R: Clockwise (Standard)

L: Counterclockwise

Mounting ZE&EIT\
F: Flange ;ERZ25

Series Number R3S
AR16(15.8cm3/rev)
AR22(22.2cm3/rev)



nlacement Piston Pum R

Unit BfZ: mm
MDimensions AERTE : (Mounting Surface: SAE "A" 2-bolt)

b2 |
Filling Port o
ep [EIREEH
AR EIRRIFH. / 44.5 / EfaﬁEFI’ort RC 3/8" Thd. Pressure Adj Screw
Flow Adj Screw
195.5
68 |6.5
25 8 o
M10 Thd. 17 - e° oo
Deep 2 Places a W_ o
= o X m—[
.. \— 05_3.-08-_ ~
(AN oy NI T 0
© £2I5 [ w0
5 I %
GAUGE PORT | T S (=gl
N PT1/4" 10
INLET 319 32'.5 32.5 172 130 \
95
I—-— 120 ——I %HUI;lI'LEI' @3/4 ¢

Typical performance characteristics 14BERFIT

- Noise Level
AR16 Performance Characteristics = % (1m horizontally away from pump head cover)
HERBER £% IRE1E
) 80
100 - 5 &
Vollimetc efﬁl:ien L5
90 — 3 2 <
3 / Overall gfficiency ixﬂlﬁ 9 = o
5 &0 S 70
B m
= / ] i Full| Fow £ifi&
> I ull|Fow 3 o —o
' 60 30 J42 = o T
o Outplit Flow H I3 S o l—" p ; :
S 50 7110 3 } i ® ®
£ © i L
w40 20 g k%]
= 2 ’ ‘
T 30 _— e = L — Full Cul-Off 2#& LR
e § 50 [—e
20 e 10 4
10 oot 2
- i
~1
Og 7 8 12 60 -0 9 4 8 12 76
(40.8) (81.6) (122) (163) (408) (81.6) (122) (163)
—> Pressure [E/] MPa (kgf/cm?) —> Pressure [27] MPa (kgf/cm?)
AR22 L = Noise Level
- Performance EharaCte"sucs E g (1m horizontally away from pump head cover)
FECER - BEE
100 — — 2 c g0
& umetric eif .c|‘en g =3 g é‘
»§ 4 2\l efficiendy S5 - = §
5 g Output Fibw 7 40 & 70
=70 . Hﬂ_l
S 60 [ v | ERE P B¢ Full flow 278 __——oT—0—4
) 1 | Q i~ B B
S 50 // 10 & 60 T ° ® L 4
& 40 20 8 8 /’_
A 53 3 — Full Cul-Off Fa{LEES
30 P 6 $ 50—
€« i
20 a3 10 4
10 ,/ 42
7
% 7 8 12 60 -0 409 3 8 12 16
(40.8) (81.6) (122) (163) (40.8) (81.6) (122) (163)
—> Pressure /] MPa (kgf/cm?) —> Pressure [B7] MPa (kgf/cm?)

*Input speed  EREER : 1,800r/min
* Ol f#F35A : 1ISO VG32
* Oil temperature 3 & : 50°C



